




160 162 164 166 168 170 172 174 176 178
38

40

42

44

46

48

50

160 162 164 166 168 170 172 174 176 178
0.98

1.00

1.02

1.04

1.06

1.08

1.10

1.12

160 162 164 166 168 170 172 174 176 178
36

38

40

42

44

46

48

50

160 162 164 166 168 170 172 174 176 178
0.98

1.00

1.02

1.04

1.06

1.08

1.10

V
D
(ET) =-81.86106+0.74954 Height

Height, cm

V
D
(E

T
),

 m
L

R2(COD)=0.99777

SF
t
 =2.07068-0.00609 Height

Height, cm

S
F

t

R2(COD)=0.99863

V
D
(BB) =-69.5192+0.67276 Height

V
D
(B

B
),

 m
L

Height, cm

R
2
(COD)=0.99829

SF
b
 =1.63484-0.0036 Height

S
F

b

Height, cm

R2(COD)=0.94598

50 55 60 65 70 75
0.98

1.00

1.02

1.04

1.06

1.08

1.10

1.12

1.14

1.16

50 55 60 65 70 75
36

38

40

42

44

46

48

50

SF
A
 =1.42497-0.00588 Body Weight

S
F

A

Body Weight, kg

R2(COD)=0.91823

Body Weight, kg

V
D
(bb) =14.61179+0.45495 Body Weight

V
D
(b

b)
, m

L

R
2
(COD)=0.84966



3.2 3.4 3.6 3.8 4.0 4.2 4.4 4.6 4.8 5.0 5.2
300

400

500

600

700

800

3.2 3.4 3.6 3.8 4.0 4.2 4.4 4.6 4.8 5.0 5.2
400

600

800

1000

1200

1400

1600

3.2 3.4 3.6 3.8 4.0 4.2 4.4 4.6 4.8 5.0 5.2
300

400

500

600

700

800

900

1000

3.2 3.4 3.6 3.8 4.0 4.2 4.4 4.6 4.8 5.0 5.2
600

800

1000

1200

1400

1600

1800

2000

R2(COD)=0.94378R2(COD)=0.99851

R2(COD)=0.96031

VC(L)

V
T
 =14.88226+121.69747 VC

V
T
(m

L)

 Sleep

R2(COD)=0.99924

VC(L)

V
T
 =274.05994+192.59383 VC

V
T
(m

L)

 Light

V
T
 =-226.43114+193.91817 VC

V
T
(m

L)

VC(L)

 Sitting

V
T
 =-269.72559+432.21114 VC

V
T
(m

L)

VC(L)

 Heavy

LNETT

ETb

BBb

bbb

AIb

LNETb

LNTHb

fbsp fbst

Blood

(1-fb)sp (1-fb)st

ET1

BB1

bb2

BB2

bbseq

BBseq

ETseq

AI1AI2AI3

ET2

bb1

LNET

LNTH

Spt

BB1T

bb2T

BB2T

bbseqT

BBseqT

ETseqT

AI1TAI2TAI3T

ET2T

bb1T
LNTHT

sb

STEnvironment 

Initial State Transformed State

Bound Material

123

456

78912

1011

131415

161718

19202124

2223

S

ST

ULI

LLI

Urinary
Bladder

Feces

Blood

Urine

ET
Region

TH
Region

Ingestion

Inhalation

Inhalation

Air

Injection

ThyroidRest of body

(a) (b)



0 10 20 30 40 50 60 70 80
0

5

10

15

0 10 20 30 40 50 60 70 80
0

10

20

30

40

50

60

70

80

90

T
c
 = -0.07932+0.15023 Body Weight

B
io

lo
gi

ca
l h

al
f-

tim
e(

d)

Body weight(kg)

a

b

R2(COD)=0.93390

T
b
 = 7.20788+1.06006 Body Weight

B
io

lo
gi

ca
l h

al
f-

tim
e(

d)

Body Weight(kg)

R2(COD)=0.92798








	분과별 논제 및 발표자

